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REPASO OPERACIONES COMBINADAS

Resuelve y escribe la solucion. Aplica la jerarquia de las operaciones
combinadas.
9 x (25-10) = 10-15:3 =
(15+7)x6= 69-16x2= 13
12 x (48 -12) = 12 x (48 -12) = :( Q:‘.
5+3x6= 45+85:5= M
100 : (20 - 16) = 85 x (1.235 - 937)=
(6+8)x(9-2)= (50 + 25): 5 =
85:5+16 = 6x3+18:9=
(123 + 39): 3 = (90-9):9 =
Relaciona.

(4+5)x(18-9) = 3
(19+11):(6-3) = 14
12+4x2= 6
3x6-8Bx2= 20
20:(15-10) = 81
(16 + 14) : (10-5) = 10
9-3):3+12= 5
(14+4):(2+4) = 2

(7+5):(6-3)=
(19+3)x2-4)=




